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PART - A (General Intelligence & Reasoning)

Q.No: 1 | In each of the following questions, a specific relationship is given between two words. |dentify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option frem the four choices given below.
Echo : Sound :: Reflection : ?

Pt o v | 2 el & o9 o fafive g G mar &1 39 s &1 uggm Ry St 5y 7y g & ary T e e e
el 21 A 6y 0 AR At § 9 999 Iuged ey gy
ufaaf : a&f= 1?7

B

Refraction

uEdT
Light
LiEGil

Image

afa

Q.No:2  Read the following statement carefully and identify the conclusion that follows.
Statements: All roses are flowers. Some flowers are red.
Conclusions:
I. Some roses are red.
11. All red things are flowers.
F=fofEa o ot e @ ué ofi e e |
YT T T[eTd Gl & | S el ollet 8l
freend:

Lgﬁﬁﬁ?«lﬁm%l
1. gt et = Gl 81

Only Conclusion | follows
thad st | SERU Hedl g
Only Conclusion 11 follows
chadl s || IR0 &l &
Both [ and Il follow

1 3R 1| ST HTERUT R 8

| 31X A BT || SFHRT ehedl

Q.No: 3 Seven friends are sitting in a circle facing the center. R is sitting to the immediate left of M. K is second to the right of M. T is sitting
between R and K. P is not sitting next to K or M. Who is sitting opposite to P?

A AR R ARG TR UF JIH IS EIR M SR TG IS K, M F TG A R A WEIT, RAR K h A A BT g1 P, KATM T
1 | A1 91 81 P & faudid & Jer §?
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QNo:4  Input: 93 box 27 pink 46 green 18

step 1: box 93 27 pink 46 green 18
Step 2: box 93 green 27 pink 46 18
Step 3: box 93 green 46 27 pink 18
step 4: box 93 green 46 pink 27 18

What will be Step 57

gge: 93 box 27 pink 46 green 18
TI0T 1: box 93 27 pink 46 green 18
FI0T 2: box 93 green 27 pink 46 18

=0T 3: box 93 green 46 27 pink 18
=0T 4: box 93 green 46 pink 27 18

0T 5 1 gir?
Box green 93 46 pink 27 18

Box green 93 46 pink 27 18
ox 93 green 46 pink 18 2

ox 93 green 46 pink
Box 93 green 46 pink 27 18

Box 93 green 46 pink 27 18
Green 46 pink 27 18 box 93

Green 46 pink 27 18 box 93

Q.No: 5 Input: 8 cake 12 bag 5 apple
Step 1: 5 apple 8 cake 12 bag
Step 2: 5 apple 8 bag 12 cake

What is the logic applied?

g4e: 8 cake 12 bag 5 apple
=0T 1: 5 apple 8 cake 12 bag
TROT 2: 5 apple 8 bag 12 cake

deh T o fekar T g7
Mumbers in ascending order; words in reverse alphabetical order

U 9ad Y B, e Je¢ gUiHTT &hH H

Numbers and words are paired and sorted

Teematt afiR reel & iieT ok Fieg e ma g

Numbers in descending order; words in reverse order

TYETd ERIE e H: 28 JeT hH A

umbers In ascending order; words In alphabetical orde

chH H; =g hH

Q.No: 6 In each of the following questions, two numbers are given which follow a certain logical or arithmetic relationship. Identify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
58214 : 70436 :: 73928 : ?

Fre=fefeEa ude us d & gwe] &1 718 € it Ush i arfdhes a1 siep1ioidty dey o1 ured &edl 21 39t G ot ugariHy ok gar wits &
T T T e oh [elq STeh! TaiT hifag ) &g 1y foemedt & & ot faeed g
58214 : 70436 :: 73928 : ?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

86140

86140
85130

85130
95140

95140
95130

95130

Q.No: 7 In the following questions, which one set of letters/numbers when sequentially placed at the gaps in the given letter series shall
complete it? d_e f 12g_16h_20i 24

FferiEa usl #, s1arl /et &1 i a1 Tig fAg 71 a1aR sjigen A Rad @Hl o2 shiffie 0 & 3@ 0 38 Q1 &ham?
d_e_f 12g_16h_20i_24

gh8ijij
gh8ijij
fg8hiij
fg8hiij
de8fgij
de8fgij

QNo:8 If+ means -, + means +, - means x, and x means + then,
whatis 28-4 + 8 + 167

afe+ et -g s F A+ &, - FT A x &, ok x Fr apef = &,
28-4+8+ 16 g?
04

104
12

112
108

108
100

100

Q.No:9  Read the following statement carefully and identify the conclusion that follows.
Statements: All chairs are furniture. Some furniture are tables.
Conclusions:
I. Some tables are chairs.
1. All chairs are tables.

Fafofed Fum & @m @ ud ok ey e
&Y I HIEAT R §1 $8 R ¢de E
et

I. 5O I ST &1

1. Toft i &= g

| -1 [EG’IEH?UTEIRHT

Both I and Il follow
1 37 || T S8R0 ed §

Only | follows

hadl | FHTHR el &

only 1l follows

chddl || STERUT 3l §
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Q.No: 10 In a class of 30 students, Priya is ranked 12th from the top. What is her rank from the bottom?

30 @Al &1 Uk e d, T SR § 124 ®H 0T g1 e § 30 @ a1 g2
17th

173

18th

18+t
16th

168f

Q.No: 11 Kiran walks 7 km south, then turns to her right and walks 4 km. She again turns to her right and walks 7 km. How far is she from her
starting point?

fereor 7 fenet aferor fEan & T@dt 8, e o ] q3ane 4 et Iardt 21 a8 fthe & oo 27¢ geae 7 fondt 9@t §1 98 S0 groendt g &
fererit gz 82
0 km

0 ferdt
11 km

11 fereft
7 km

7 feerdt

QNo:12 XistoUasNis to:

¥, U < forg aar & & S e

‘

Q.No: 13 Rohan walks 10 meters towards the North. Then he turns right and walks 5 meters. Again, he turns right and walks 10 meters.

In which direction is he now from his starting point?

g I feam &t iR 10 e =erar &1 iR 98 <14 g2ar ¢ ofe 5 et 9oar 1 R 4, 98 2 gsa1 g ofR 10 A Feran g1

I9 9% A YA g @ e F &2
North

South

FHi

West

ufgm

QNo: 14  Complete the series: 6, 11, 21, 36, 56, ?

Sl I IR - 6, 11, 21, 36, 56, ?
80
80
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Q.No: 15 | If 6 workers complete a job in 15 days. How many days will 9 workers take assuming the same work rate?
afe 6 st forelt ovrd &8 15 &1 A qur vea €, wwm & &v 7 gg 9 e fhem R A g =32

10 days|

10 fe

11 days

1 &
9 days

9 i
12 days

12 f&a

QNo:16 | A train 150 m long passes a pole in 10 seconds. What is its speed in km/h?

150 Hiex w=t Ueh e TaT Uah @ @ 10 Tehs B UR Sd! g1 FHeh! TTd fodt /e § = 87

60 km/h
60 feredt/ger
B kol

e
54 TRHT/9

48 km/h

48 ferdt/der
45 km/h

45 faredt/der

Q.No: 17 A word-and-number arrangement machine rearranges a given input following a specific rule in each step. The rule involves moving
the alphabetically smallest word to the leftmost side and the numerically largest number to the rightmost side in each step. The
process continues until all words are arranged in alphabetical order at the left end, and all numbers in descending order at the right
end.

Based on the pattern, answer the guestions that follow the given input.
input: Apple 41 Orange 62 85 Mango Banana 19
Question: What is the final (last) arrangement?

Ueh aTee- 3fR-EET e Haii Udieh <=0 H Ues fafaie Fraw o1 e ed gy U 1Y 3 &t gredaied #8139 o | uds o
H quiATe & SR 999 BI¢ 1< &l TG 912 3R 3R S ®U 8 994 921 Y1 ! 999 e AR o o1 A g1 9 ulchan a4
deh o Tgdt § o a fok et areg a1g oflx auinmen s F ofk oft dend e ofk aradid o F aafea 7 gt wmd)
29 O oh SMYR UR, féU 7T 39Ye & 916 31 arel Wl & 3= Sl
FYC: W 41 HaRT 62 85 HTH el 19
we: aifay (eifan) semn aar &7

Apple Banana Mango Orange 85 62 41 19

€ cho] 3 A 8
Banana Apple Mango Orange 85 62 41 19

chell 99 HH Hd1 85 62 41 19
Banana Mango Apple Orange 8562 41 19

chell 3T ¥ Haw1 85 62 41 19
Apple Banana Orange Mango 8562 41 19

T helT AT 3rH 85 62 41 19

Q.No: 18 All birds fly. Penguins are birds. Therefere, penguins fly." The flaw is:

it ueht 33 &1 e uaht 1 saforg, A Ssd §1" dw B &
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Hasty generalization
Irrelevant conclusion
ircular reasoning

E c} c}
False premise

ET AR

Q.No: 19 | Which of these actions shows poor judgment in handling a disagreement with a friend?

T ¥ T Ot FRaE B & o1y g9y 4 Fues § e fFofg =t garfdt &7

Talking calmly to resolve it

2nifa & a1d Feh 39 gAFHI

noring the friend permanentl

m ToTeaiersl
Taking time to cool off

31 g A amg @
Writing a letter to express your feslings

ST W13 ! Herd e oh o8 UF ferg=T

Q.No: 20 If 4 workers can complete a job in 12 days, how many days will 6 workers take to complete the same job?

IR 4 yiffes ot d & 12 B § g s Iand €, a1 6 81 St &l ot Q1 &t § fehaq fem &2
7 days

7R
6 days

6 fa
9 days

9 &

Q.No:21  Which one is different from the others?
FHdFH g g d = 87

121

121

189

139

169

169
144

144

Q.No: 22 In each of these questions, a number series is given. In each series, only one number is wrong number. Find out the wrong number.
5,11, 21, 43, 86, 171

Ui U H Ueh TEIT S & TS 21 Udeh S/ | chael Uah 9T Tld 6| Tid Ol T hiforg | 5, 11, 21, 43, 86, 171
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QNo:23 A and B are sisters. C is the brother of A. D is the father of C. How is D related to B?
ARBEEHEIC, ARTME 10, CH fUar 81 D &7 & & o gy 87

Father

I

Uncle

=T
Brother

LIES

Father-in-law

Y

QNo: 24 |n a class of 41 students, Ramesh is ranked 215 from the top. What is his rank from the bottom?

JBHAITEFRIiErTH T IR i Rdsmh e wd

Q.No: 25 | Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
1. SMILE : T NKLI
2.BRING:CSHMH
3.FLOUR:GMNVQ
4. HOUSE: IPVTF
5.TRUTH: USVUI

fFrfat@a ufa & & IR v Mg 0 9 0F S § ok $Hfe Yok WHp S1d &1 98 I A1 E 9 39 WE 9 HefT 6l 87
1. SMILE : T NKLI
2.BRING:CSHMH
3.FLOUR:GMNVQ
4. HOUSE: IPVTF
5.TRUTH: USVU|I
TRUTH 1 USV U I

TRUTH: USV U I
HOUSEIIPVTF
HOUSEIIPVTF
FLOUR:GMNVQ

FLIOUR:GMNWVQ
CATLE VKL

LATLE L T KL

Q.No: 26  If 4 workers can complete a task in 8 days. How many days will 8 workers take to complete the same task?

afe; 4 sftrens foneft oord &t 8 =1 & o o Trd €, ot 8 sifres et oordf &t foram feAl & wur det?
10 days

10 f&=
EEE
4 125

6 days

6 &
8 days

8 e
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Q.No: 27 ' In each of the following guestions, a word is transformed into another word by applying a specific alphabetical pattern to each of its
letters. Identify the logic used in the first pair and apply the same logic to the second word to determine the correct answer.
LIGHT : MJGHW :: HEAVY : ?

fF=fofEd vds U 3, Uoh 215 1 39 Teh 918K TR Ueh [A1RTE JUATAT O o] chich G318 216G § ol T4 g1 Uge! wite | Wgad
i UgAIY ofk Wl 3= FaiRa a== & forg 3¢t 9 ol g e R @] difeig)
LIGHT : MJGHW :: HEAVY : ?

HISAT

HISAT
JENZQ

JENZQ
GPIDB

GPIDB

Q.No:28  Complete the series: 2, 6, 14, 30, 62, ?
ST I QA h: 2, 6, 14, 30, 62, ?
120

120
122

122
124

124
126

126

Q.No:29  Fillin the blank: 4, 12,6, 18,9,
g 4,12, 6, 18,9,

- -
(= o le =]

36

36
12

12

Q.No:30 No humans are immortal. Some humans are scientists. Which of the following conclusions can be made?

i3 oft Ao R 981 81 $© Hg™ A9 | FfefEa & & 9 o Fswd Ferre o1 gahan g2

All humans are immortal

gt Ay AR E

All scientists are mortal

gt ae Aw g

Some scientists are not humans

ERERIECRC IR

Q.No: 31 Six people A, B, C, D, E, and F are sitting in a row. B is to the right of A but to the left of C. Who is in the middle?

D afed A B, C D, EIARFUG U A3 8B, ATeE iR gdfacFaE iR g1 fad s &2

‘
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Q.No: 32 | Statement: Ethical behavior fosters trust, but profitability often relies on operational efficiency as well.
Conclusion I: Ethical behavior is not sufficient for profitability.
Conclusion Il: Operational efficiency is required for trust.

FY: ATk =agR Ty i Tgran &1 §, Stk ariedr R uREre e oY off el & 2
fAreped | Ty et & foie Afas saagR mahe T8 8l

fAremed |1: fasyr & forw ufearers 2&1ar /sy g1

I 9T ISRy TRl el 8?7

| Il G-Iaﬂ?ﬂ'l

Meither conclusion | nor Il follows

A df FFsept | aflR A g1 1 SR &hdr gl

Only conclusion | follows

thadl Fseht | SFERUT Fedl gl

Only conclusion Il follows

hael sy || SITERUT el g1

Q.No: 33  Scenario:
Priyanka has the following qualifications:
Education: B.Sc. with 82% and M.Sc. in Chemistry
Experience: 3 years in the relevant field
Age: 26 years
Eligibility Criteria for the Position:
Minimum Age: 25 years
Maximum Age: 30 years
Educational Qualification: At least M.Sc. in Chemistry
Experience: Minimum 2 years in the relevant field
Probationary Roles: Open to candidates with less than 5 years of experience

Decision:
Based on the provided information, what is the most appropriate decision regarding Privanka's eligibility for the position?

ufgaa:

forien & urg Fefeiaa gima] §:

fRY&AT: 829 2ieh! & amy =g A, it wmoF fase | g ga
AW Hafda &5 # 3 g4

R 26 99

Uz & AT U AavEs:

ATH A 25 9

Afehaw arg; 30 99

Sterfires Thaarn: WA f9E § F7 § &F ...

e e &5 § gFan 2 99

afeiemfia JfEeg: 5 99 § & 3Hd ard 39edN & oy gl ¢

fAofa:
UG <l T3 SR o YR UR, U o felg fiiert 1 urAdr & 9R # 994 Iuged Hofg a1 g2

Priyanka is not eligible due to her age exceeding the maximum limit.
Testbook

forient a1 amg i § arfde g1 & R U T8 8

UTSU &R
P it T AR R ST e 0 8 piabiona t61e]
FRSERTSTT M T S R el 6 U1 ot GO
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Q.No: 34 Eight people - A, B, C, D, E, F, G, and H - are sitting around a circular table, all facing outward.
D is third to the right of A.
B is sitting opposite D.
G is an immediate neighbor of both D and F.
C sits to the immediate right of F. (Modified from ""second to the left"")
E is third to the right of B.
Who is sitting to the immediate right of E?

TS FAfERT - A, B, C, D, E, F, G, 3R H - U TerR 3 & I 3R 918¢ 6t 3R 99 &teh 948 B
D, A & S1E SR JIER1 1

B, D & fAUdd a7 g1

G, D 3fR F &4 & Fepean usih 21

C, F & 8leh &g AR Jo1 31 ('91d 8 gae’ & Hanfad)

E, B gl AR fr gl

E o &Ik TE A & Sa1 8?7

‘

Q.No:35 If READ = 79 and DEAR = 79, Then what is the code for DARE?
ufg READ = 79 aflz DEAR = 79 &, df DARE &1 &I &1 &7
87

87
86

86
88

Q.No:36 | In how many ways can 6 people be seated around a round table?

Tk 1o el o IRI 37K 6 TN fehel aiehl @ &8 Hehel 67

120
120

360

360
480

480

Q.No: 37 | A train travels 180 km at a uniform speed. If the speed had been 15 km/h more, it would have taken 1 hour less to cover the same
distance.

What is the original speed of the train?

Uch TeTTE! Qeha A Tfd & 180 freft &t o= ot &1 o i 15 fonddt /gt Samen g, ot 9% o ot g &est | 1 6el & ol

Yermidt &t @ nifa T 87
60 km/h
60 feret/der
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45 km/ 1t

75 km/h

75 fensttfger
30 km/h

30 ferst/ger

Q.No:38  Find the number that doesn't belong:
I T 9T Y ol 39 = J A8 g

103

103

109

109
107

107

QNo:39 |5 3 queue, Ram is 109 from the front and 15 from the back. How many people are in the queue?

UF FaR F, 79 oM & 10V ofr B3 & 15" 31 e & vt i 82
26

26
27

27
L4

24
25

25

Q.No: 40 | Sameer has 67% in B.Sc. and a completed M.Sc. He is 31 years eld and has 5 years of experience. Ready for probation.

THR & O Sfeadt & 67% ik € ofR 30 UAuT! &l Uels QX1 she ot g1 98 31 TT ol ¢ 31X I0eh T 5 T ol 34 g1 HesH &
o daR 21

Selected

Tgfaa
incufficient Datd

3O =]
Refer to Principal
flifge & dudh &

Refer to Vice Principal

30w & HUeh e

QNo:41  Find the different term:
99 ug 5 &Y
49

49
64

64
(50
90

=]

81
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QNo: 42 A man walks 4 km nerth, then turns right and walks 3 km. Then turns right again and walks 4 km.

What is the shortest distance from his starting point?

T aMeHT 4 foreft == &t ofR Ieran g, fihe 210 g3an & ok 3 foneft 9oran 1 fihe 2d g3an & ofiR 4 fhelt 3@ e 21

IS AT foig & 994 Sidt gt 1 g?
2 km

2 feret
5km

5 feprt

4 km
4 fopdy

Q.No: 43 ' What should come in the place of question mark (?) in the following alpha numeric series? 10M-30, 150-27, 20K-24, 25Q-21, ?
Fe=fofeEa setraaRs gen § uxdaras &g (?) & = w591 A1 91i@g? 10M-30, 150-27, 20K-24, 25Q-21, 2
32K-22

32k-22
315-18

31s-18
33118

Q.No: 44 What should come in the place of question mark (?) in the following alpha numeric series? 2A-50, 5Z-46, 8B-42, 11Y-38, ?
F=fefEa sietrraRe ggen § Uxards &g (?) & = U 591 AH 91847 2A-50, 52-46, 8B-42, 11Y-38, ?

[14C-34]
14C-34
14x-34

14%-34
14F-30

14F-30
14D-34

14D-34

Q.No: 45 | Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
1.MNOP:NMOP
2.ABCD:BACD
3.FGHI:GFHI
4. STUV:TSUV
5.WXYZ:XYWZ

fFrfafea ufa & & IR g Pfga 0 9 9 S & ok SH{EY Yo p S91d 1 98 HI 91 ¢ 5 39 e 9 e ol 87
1.MNOP:NMOP
2.ABCD:BACD
3.FGHI:GFHI
4.STUV:TSUV
5.WXYZ:XYWZ
MNOP:NMOP

MNOP:NMOP
ABCD:BACD

ABCD:BACD
WY 2 Y Y]

WY Y 2 XY Y
STUMITEUYV

STUVITEUYV
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Q.No: 46 A s the father of B, and B is the mother of C. How is A related to C?

A BaITUaTg ofik B, cRI AT &1 A =1 ¢ § 1 G 87

Father
foar

Uncle

=T
Braother

LIES

Q.No: 47 Observe the following incomplete letter sequence carefully. A specific pattern governs the order and repetition of the letters.
Choose the option that best fills the blanks to complete the sequence logically and symmetrically. aa_bbc_aa bb_aaac_cc

FefafEs o ser gaer ot am 3 391 dsd & F ok g &t uas fafde e Fafia s g1
39 [dehed ot g S Re =T o difches oz 9AMAd U 8 Q=1 34 & oy 9=4 Suge &1 ab_bbc_aa bb_aaac_cc
bbbb
bbbb
aaab
aaab
CCccc

cCco
ddaa

dddd

Q.No: 48  Read the following statement carefully and identify the conclusion that follows.

Statement: "Online learning has increased student participation.”
Conclusions:

I. Students did not participate in physical classes.

Il. Technology helps in engaging students.

el Fu =t o @ ud o Ao feret|
Y " HiE § 86l & Yriert 9d 21"
e

I. Bt A oftfaes semer & 9T g fomm

I1. Wienfieh! 8&l &t Sied & Aeg Hedl gl

nly Conclusion Il follow

|| STHI0T hidl
Both I and Il follow

1 3% || ST SFTER0T ed §

Meither | nor 11 follows

At oflR 7 g 1 SFTERT e B

Only Conclusion | follows

thad fseRtf | SERUT Sedl g

Q.No: 49 | In the following question, a pair of words is given in capital letters, followed by five answer options consisting of word pairs. Choose
the option in which the relationship between the two words most closely matches the relationship between the given pair. MAVERICK :
CONFORMITY
1. Iconoclast : Tradition
2. Dilettante : Expertise
3. Ascetic : Indulgence
4. Demagogue : Populace
5. Altruist : Selfishness
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FAfefEd vy o, 92 el F el &1 ua g foan a8, fSaes are rse gt aret Ui 3R faahey feg e &1 39 fAshey o1 994 Sifeig
foreH 2 2r=gl o off &1 Gy 3y g g & &9 & ddy d g8 ifde Jd @idar gl SERT ; SR
1. HfdHeTe : TROUW

2. aftferan : [agiesar
3. dut ; win-faerg
4, SR | FJTdT
5. TRIURT : e

Altruist : Selfishness

TRIUeRT : @y

Ascetic : Indulgence

quT : Hi-faer

Demagogue : Populace

WA | Al

Oracid 40

Q.No: 50  In each of the following question, a pair of words (letter sequences) is given on the left-hand side of the double colon (::), which
follows a certain alphabetical pattern. Identify the logic in the first pair and apply the same logic to the third word to find the correct
corresponding word from the options.

RED: RFE:: TOP: ?

fafafEa vds vy A, Sg fied (2:) & 918 37K 16T o1 Ueh 7 (18R &) f&am man &, 71 ues FifEa aufnmar &0 &1 ogeRT &ar 8
Ugel gr| H deh ugaiig ofiX faehett & 4 gl 9va 9= 917d e & foig 3t ek ol iR wrse o @] ifeig)
RED : RFE:: TOP: ?

GAG

GAG

KAK

KAK
MOM

MOM

PART - B (General Awareness)

QNo:51  What was the first published poetry collection by Vinod Kumar Shukla?
fete FHR et a1 Ul Ul Shiddl HUg i 41 U1?

Lagbhag Jai Hind

AT oY fie

Kavita se Lambi Kavita

hiddr | o=l sfaar
Aakash Dharti Ko Khatakta Hai

TERT2T AT vt WAL B STeAaT &
Woh Aadmi Chala Gaya

gl 3TeHt Tl TEr
Notamwered

QNo: 52 | According to the Law of Periods, the square of a planet’s time period is proportional to:

anTad & fFam & argaR, Tt og &t anad 1 o fAfefes & gagurdt glar &

The square of its distance from the sun

o & 3 g

The cube of the semi-major axis of its orbit

AU el & ref-ETe 387 1 aa

The square root of its orbital radius

3! Faftg B & arige

The product of its mass and orbital speed
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9k EegAT Y 2Rafig Ti ol U

Q.No: 53 | Which of Rutherford's experimental observations led him to cenclude that the pesitive charge of an atom is concentrated in a very
small region?

RIS o e wahTHes draied A 9 a8 e Ferred & g aRa feran R oz a1 aeTeres sl 9gd i 8 | dfa g 7

Electrons were found to orbit the nucleus in specific energy levels.

FoagiA fafire Saf =i o Tf9e &Y uftear e oy gl

A very small fraction of d-particles rebounded almost backwards.

O-ShUTT <l Geh dge BICT 30 @ THT Uies & AR Joell|

0st 0-particles follOwWed a stralght path through the gold foll

13T 0-<h 0T H1egH  Ueh GIET &1
A small fraction of d-particles were deflected by small angles.

o-TUT ol Yeh Siel 41 i3 i ol & fqafiag gt mam

Q.No:54 The Western Coastal Plains are narrower compared to the Eastern Coastal Plains because:

ufsyeh adta A gal adta Agrt @t g H Hane &l 82

They receive less rainfall

59 & d auf w9 g &

They are less populated
TET STEET Tl A B
ney are older in formatio
i it s
They are bordered by the Western Ghats
ot et gt g

Q.No: 55  The maximum strength of the Lok Sabha (House of the People) as stipulated by the Constitution is:

Tfaum grr i & a9 (die gu1) &I eifdsay gew 9en g
530 members

530929
552 members

552 9¢H{
550 members

550 9e
545 members

54

Q.No: 56  Which recent mission by ISRO aims to study the Sun from the Lagrange point L17
O 1 BTel 61 A Y& foha] a1 i-91 fAee gy o oreggH ool f6g L1 d e & I 9 87
Chandrayaan-3
F5aT-3
Shukrayaan-1
IEHT-1
Mangalyaan

Hiler =

QNo:57  Name the state which is the largest producer of lignite coal?

g I il ferHTge et &1 Oed 931 IdEH g, SH-a1 g2
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Maharashirg

Gujarat

Rajasthan

EME T
Tamil Nadu

dfterTg

Q.No: 58 | Which Mauryan ruler is credited with the establishment of the spy system in his empire?

g 1 TuTe HiF o7 57 o ararey | e saa i e 4 R e g
Bindusara
figar
Brihadratha
qocd
Ashoka
ERiC

handragupta Maurya

ik

QNo:59  Which article provides for the appointment of Governors in India?

WRAN AT &1 RiH-41 g Tsal 8§ TwauTd <l (Agied a1 Urere= & &2
Article 170

ag=ee 170

Article 154

ag=eg 154

Article 155

Prgese_155

Article 168

I=de 168

Q.No: 60 Identify the following constitutional attributes with their respective democratic values:

Column A Column B

a) Fundamental Duties i. Grassroots democracy

b) Equal voting rights ii. Respect for individual conscience
¢) Local self-government provisions responsibilities | iii. Recognition of citizens'

d) Religious freedom assurance iv. Principle of universal franchise
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Ffeifga daurfe fasiuanai ot 34k dfdd dishdifEe gl & @y ugaH:

WHA WY B
a) Hifeisd e i. ST TR O dildhad
b) THM AR ii. EfeTd fads &1 g

c) T WRTEA WA fosertat | ii. AFTRes! 6 argar

d) enfifer Td=ar ey iv. GTETE qarfier o fgid
a-ii, b=i, c=iv, d-iii
a-ii, b=i, c=iv, d-iii
a-i, b=ii, c=iii, d-iv

a-i, b=ii, c=iii, d=iv

ja=ill, D=Iv, C=I, O=I|

-1, b-1v, c-1, d-
a-iv, b=iii, c=ii, d-i

a-iv, b=iii, c=ii, d-i

Q.No: 61 | Which Pala ruler is known for founding the great Buddhist university at Vikramashila?
ferermfaren & agm Sty Ryfeneg i o @ 2w e urer smge =i far sar 22
Dharmapalg

SCi
Mahipala |

Devapala

U

Q.No: 62 Which of the following correctly represents the chronological order of human development during gestation?

fFefafas § 3 o @ nafeen & S ama Tem & Frrsis w0 o a9d e & axfan g2
Embryo — Zygote — Fetus
YU — TS — Yo7
Fetus — Embryo — Zygote
YUT —~ YUIETET — AT

ote - Embryo — Fetu

— —

Zygote — Fetus — Embryo

A — YOI — YUIERT

Q.No: 63  Prime Minister Narendra Modi paid tribute to Thiru K. Kamaraj on his birth anniversary. He is remembered for his contributions to
which of the following areas?

THTHHT g HIEr A 9% &, AT ol Ieh] STddl U siglatiel AU il Ig Freiiad J o foh 8 | 399eh aiTeH o folg arg ferar
T 8?
Trade liberalization and digital governance

YR e 3R f3fSes g

reedom struggle and social welfare

[ERERIEDIE R CIS B T MR G |

Industrialization and foreign policy

afferifiereor afiz fA2er fifa
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Literature and environmental reforms

aifg ofik yafeaxor gur

Q.No: 64 What was the primary impact of the 'License Raj' system on industrial growth in India before 19917

1991 & uget Wea # affeifies e ur 'asdd I WuTTe! ST uryfies WTE =T uT?

t created entry barriers, hindered expansion, and fostered Nemicienc

21 H ST 3049 88, HIET 30E g5, YT HRAEI &l TSIl
It led to efficient resource allocation and increased competition.
YUY TATeHT Sl Hare Aded gl ok ufaenef &gl
It ensured balanced regional development and prevented monopolies.

3T Oferd &g e gifaa fhan ofk vafder &t =

It promoted rapid industrial diversification and innovation.

3= ot afteifie faffier i Famr &t sear feam

QNo: 65 Which of the following best describes the primary objective of a government's fiscal policy?

FfifEd § 9 &9 91 Y- SR &l Aol -ifd & TUiHe I230 1 a4 78T guiH Hidl g7

To control the money supply and interest rates.

T Ayl ofl = 2= @t Pt we)

To promote international trade and maintain a favorable balance of payments.

ARIET MUR <l Fd1aT ST HR I Hel chl el a1y I

To regulate the stock market and financial institutions.

9o aTer o o<t dened &t fafafma e

Q.No: 66 | Given below are the statements in assertion and reason. Choose the correct options:
Assertion (A): AFI has incorporated WADA's 2014 anti-doping rules into its constitution.
Reason(R): Any updates to WADA rules are automatically binding on all athletes and affiliated units in AFI.

i argAT ok FRon | few o Tt @t ud ) agl e
SET (A): AFI 3 WADA o 2014 & UEI-Siftn et &6 orgd "fdur & anfae feRar g1
THRUT (R): WADA & ol & &g oft arude wanfeid =u 4 AF § 9t vudie! afit 9ag seedl U SR gid &

Ais true, but R is false.

ATE g, A R T B

oth A and R are true, and R Is the correct explanation of A

R O g, R, Al
Both A and R are true, but R is not the correct explanation of A.

21 A 3R R 9 &, f R A 1 9T == 8 2.

Ais false, but R is true.

AT g, dfehd R 98T 81

QNo: 67  Inwhich decade did India experience a negative growth rate in population?
ford g § YIRd H SIE g X AR @17
1901-1911

1901-1911
1931-1941

1931-1941
2001-201

2001-2011
1911-1921

1911-192]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

QNo:68  Which year was the first World Happiness Report published?
T 3y wo=ar Ruié g av nerfag gg off?

2012

2012
2016

2016
2010

2010
2005

2005

Q.No: 69 How can MISAR provide valuable information for understanding the relationship between fluid injection and earthquake?

%9 Suiae 3R HhU & oI Y9 &t gAZA & ol FER (NISAR) [ U Hedd SIHHR! UG & Hehdl g7
By tracking changes in ground surface elevation associated with pumping and injection
O 3R goieR™@ § 92 Y-Tag 390 § Uigd- U o TEae
By measuring seismic activity in real time

aRAfdes Ty § aehdig niafafy @i g

By monitoring water table levels

9ol TR & FIRET ek

By analyzing satellite imagery of earthquake damage
ey ¥ g2 &1fd 1 Juug Biadl F1 faseiw =

Q.No: 70 Which of the following best captures the broader geopolitical shift triggered by the decisive defeat of the Nawab of Carnatic’s forces in
their confrontation with European powers?

Aol # 4 o4 a1 wu= gAdty il & 91 gahrrd # shdieds & Aard el 341 &I [Aurifas gR § 307 @ Y-Ie-iide seerd ol
e ar=d &1 4 gfar g7

It revealed systemic vulnerabilities in native military structures, prompting European companies to transition from trade to politica

It disillusioned European companies, resulting in a strategic withdrawal from inland military affairs.

FEE g Al onr HigH gt ma, o URuIAEEy siadaiia =1 Al d 3! 0TI arut 81 1E|

It consolidated indigenous authority, forcing European traders into commercial treaties under local oversight.

35 Tl wiiR &l Yoo fohar, Jun Ry il &t s A A arftifse d@fdal s o fog are feean

It established a stable dual-administrative system between Indian principalities and foreign chartered companies.

o v Rt ofe sl =rés st & S g [ Sedt-nemaf=er e znfua i

QNo:71  The Aspirational Districts Programme (ADP) focuses on:

et foten sy (2Tdt) Fefoies = &g &

nhancing development in underdeveloped district
EAEN

Improving governance in urban areas

el &5t § marE § gUR S

Developing industrial clusters in backward regions

TUos &Rl 7 offelifiien aeredl & faene &ear

Providing subsidies to small-scale industries

Y I i QiU UeH FeAT

Q.No: 72 Which of the following statements best explains why certain regions exhibit high population density?
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Fefafaa 3 4 9 91 sy Fed o & O 9T & ok 30 89 3= S 99 il Uefdid & 87

egions offering fertile land, favorable climates, abundant natural resources, and robust economic opportunities are more likely t
h population densities.

High population density is predominantly found in areas with poor infrastructure and limited access to essential services.

T SHEET U I d: G iHardl i SR arrasaes et ae HifAa ugs aret S § U | gl
Regions with limited natural resources tend to have Areas with scarce natural resources have higher population concentrations
because of greater competition for few materials.

A wrefaes dare=T aret &5 J s & a9d 31 giaT 8, Fiich 98] $© uardl & [y i ufaedf gidt 81 geiv aipfae
T dTet SF1 § ST &1 99 1 B1d1 6, FiTch 981 $o Ueryl o fory sifde nfawgef gidt 21

Areas characterized by mountainous terrain and arid climates often support dense populations because of their challenging living
conditions.

TSt T 3R 6k STeAey dTet &1 3feraR It gut witaH fEfaat & rur o+ Al art gid €

QNo: 73 What is the role of the Speaker in case of a tied vote in the Lok Sabha election?

AR AT A Ul Fiet i T SRIe U2 g1, i 37est <l < sl gidn 82

Decides based on personal preference

HfeRITe AT & SR o= fAuig o=

Does not participate
0T g Aid
Refers the decision to the President

ol rgufd & urg Ssr

Q.No: 74 Which government scheme aims to phase out unfit and polluting vehicles from India’s roads to reduce emissions and boost
automotive industry recycling?

for TR TISTT 1 I220 IO &1 & Shed 3R Afemifea IemT Samsfaet &l Jgrar 37 & oY uRa i TSa! § aFuged ik
TENUTERR aTgA! &l 8T &2

Smart City Mission

e fad i

oluntary Vehicle Fleet Modernisation Programm

EIGRICE
MNational Electric Mability Mission Plan

ey faga nfdefierar e g

Pradhan Mantri Gramin Sadak Yojana

URTHAT ATHIUT Gk GharT

QNo:75  Which constitutional features in India are linked to the Australian Constitution?
A) Freedom of trade and commerce
E) Joint sitting of the two Houses
C) Federal structure with strong Centre
D) Advisory jurisdiction of the Supreme Court

URd # i °F Faune guan] Ao dfaum 3 2t §?

U) &R 3 aifteg &6 Tasrdr
&ft) g1 |l T Fge Aok
oY) AT &g & Ty SER TREAT
=) TaT=T "I T GdlghR SATUHRR
only B
hadt o
A and B both
T afk ff =t

A and C both
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QNo:76  Which of the following initiatives was launched by the BRICS countries?

ferera(BRICS) ot gRT FArAfeifRaa d & «i= d ugel & &l 1g?
The North Atlantic Treaty Organization (NATO)

The World Trade Organization (WTO)

farsy =TuR e (Ssegdha)

The International Monetary Fund (IMF)

SIRIYT T2 1 (STETAT)

Q.No: 77 | Read the below statements:
Statement I: The Sixth Five-Year Plan aimed at income growth and modernization of technology through various schemes.
Statement II: The Third Five-Year Plan failed due to various factors such as wars, rupee devaluation and food crisis.
Which of the above statements is/are correct?

i Ry g wuAl =t ug:

YA |: TSI UFUT T o Je2d A gl & A & oma giy oft Tientfiht o1 smyfAchieneor o= uT)
YA |1: J19 uggdiy OieHT 4G, $U8 & Haqed 3R @rel e o fAf9a SRl & SRl &tk @
W{Iﬂﬂm’ﬁaﬂ?w{#aﬁ%ﬁ?

| 1l Meld
Statement | is correct, Statement Il is incorrect

FUF | 98l &, YA | TAd &
Statement | is incorrect, Statement |l is correct

U | T &, YA || TeT &
Both statements | and Il are correct

HUT | 3 11 ST agt &

QNo: 78  What was the recommendation of the Narasimham Committee-1I regarding public sector banks?

TRiea aAfa-TEda 7 wrdei=e &3 o Sl &i viae a1 Rk & o7

Reduce lending by public sector banks

ik Senl gRT 70T B Shefdr

Increase government ownership in public sector banks

reeiies &9 & dehl # GeaR! @ifia § gfg

Privatize all public sector banks

Toft Ordii-en &5 & Sep! &1 FofiaoT &

QNo:79  Which of the following best reflects the scarcity problem in economics?

fF=fofEa § 4 =9 a1 el § gefar 6 a0 & T93 ores! a¥g 9 giar &?
Limited wants and unlimited resources
Hiffg swo ok =difig g
Unlimited wants and unlimited resources

IR 3= iR orfifid T=me=

e
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Equal wants and equal resources

T 3WWIY 3K I 918

Q.No: 80  Under which ministry does the National Productivity Council operate?

UE JATEehdl UREE fehd HaATerd & il e et 87
Ministry of Education
fRrgr #reTd
inistry of Commerce and Industry]
Bl R RIU R el
Ministry of Social Justice and Empowerment
T A1 Ud i1 dae™

Ministry of Agriculture

Fity AT

Q.No: 81 If a person view the Earth from above the North Pole, he will cbserve that the Earth rotates in:

e iE afert qudl &l Sad gd & FUT 4 &, dt 9g S fo et gt &

Mo rotation

i AT TG

Random spin

g A

Clockwise

MENICE]

Q.No: 82 Which Article of the Constitution deals with the extent of executive power of the Union?
dfaums &1 T4 91 s 99 Fi wdeRT afe @ A 3 d@dfia &2
Article 78

FT=oe 78

Article 75

HTE 75

Article 52

=g 52

Q.No: 83 | Read the following statements carefully and choose the correct option:
Assertion (A): The jaherthan plays a central role in the sacrificial rituals of Erok Sim.
Reason (R): The jaherthan is a sacred grove believed to be inhabited by spirits, including Jaherera, the Lady of the Sacred Grove.

Fr=fafEa su=l &t aarmgds ug ot o e 4t

YA (A): T G & SfergH BT # STERUH U hard A HEr g1

HROT (R): TERYT U ufas Suaq g Sraeh ar & A oiar & o o afes suae 6 2 omewr afta =2 e e ot 81
Both A and R are correct, but R does not explain A.
A o p 241 Ol &, @ftha R, A 6 aarem 7 Fxar 21

Both A and R are correct, and R correctly explains A.

A 2R R &1 GE1 8, 99T R, A <l TgI =0l Thedl 2

Ais correct, but R is incorrect.

ATE g, Afd R T B

Ais incorrect, but R is correct.

ATAd g, AT R TET B
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Q.No: 84  The Battle of Samugarh was fought between Aurangzeb and which Mughal prince?

TG Al G SfTote ofR fohd et I AR o it oreT mar ur?
Jahangir
SRR
Murad Baksh

IS S
Shah Jahan

SMEwIg!

Q.No: 85  Which Indian plateau is formed primarily by volcanic activity?
WIRd el hI-H1 USR HE&4d: STl @y Ml & R &1 82

Malwa Plateau

HleldT UaE

Shillong Plateau

At ueR

hota Nagpur Platea

Deccan Plateau
Gdehd TSl

Q.No: 86 | Evaluate the following about Carnatic instruments and choose the correct option:
Statement 1: The Mridangam is a melodic percussion instrument used to outline the raga.
Statement 2: Nadaswaram is a double-reed instrument traditionally played in temples and weddings.

Tfes arerd=l & ar # F=afaf@a =1 geaisa fifeg ok w6 e g
Y 1: G o A3 AT arel & ForeTent uai I &t Sk a9 & g o s g1
YA 2; ATSERH Uah 2-38 are & 99 uRkufies =0 @ 9 ofik faag sariel & aemn e &1

Both 1 and 2 are correct

1 3R 2 &1 gt &

Neither 1 nor 2 is correct
adr1 siRagrzadig

Q.No: 87 | As per Chapter | (Preliminary) of the Bharativa Sakshya Adhinivam, 2023, which of the following is not applicable under the Act?
YR Wreg AfA=mE, 2023 & aremd | (WRfY) & sgarR, Fefifad d 3 o= ar afdfFg & afaia a8 872

Hearings before a District Magistrate

Sren afoe & Tner gaTs

Affidavits submitted before court officer

TTT AU & THE Y& Gtk

rials before Military Court |Court-Martial

Proceedings before Civil Judge Court

fifaet oiet i< & THeT Srdargl
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Q.No: 88 Which classical dance form is associated with the state of Kerala?
i Ot At 7 Sl e Teg € defdd §?
Kathak

h¥ch
Kuchipudi

g

Kathakall

ERCaNl
Sattriya

GIER]]

Q.No:89  What does a lower GPI score indicate?

Y GP| ThIX @1 2x1TaT 82

igher level of peace

BT ] Ses, S

Greater military strength

e I At

Higher risk of war

g o1 3MfF T

Better environmental practices

g yafaxvig qurd

Q.No: 90  Consider the following statements:
Statement I: Land and agriculture fall under the State List.
Statement I Marriage laws and adoption fall under the Concurrent List.
Which of the statements given above is/are correct?

FA=fefEa Fuat & fER

Y |; o 3R H Iy Gt & sild od €1
T |I: farg FrA ofik e & aaad gt & ofarfa emd €

Sudert vl & & i A Td 3/

Only Statement | is correct

thael Y | 98T 8

Only Statement Il is correct
eharel S || Tl g

Both statements | and Il are correct

Y | 3 11 ST 98l &

Meither statement | nor Il is correct

AdtFEu I sRAA I TH

Q.No: 91 In May 2024, India signed a long-term agreement for the operation of Chabahar Port. What is the duration of this agreement?

Tg 2024 # YRA A IR S8Ug & HdTe o (o] & Hehlolch GHS U ga1eR fehy | 39 9a0gia @i aaf =1 g2

20 gy
10 years

10 a9
99 years

99 o

5 years
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QNo:92  Consider the following statements about Udayagiri and Khandagiri caves:
1.These caves are near Bhubaneswar and were meant for Jain monks.
2.All caves are shaped like flowers and are carved from independent boulders.
3.Each cave has multiple shrines dedicated to different Buddhist deities.
Which of the above isfare correct?

Feamik oz @it qwradd & ar 7 Fefefda s w® FER i
1. T ORI E4R & U ¢ o o figged & forg off)

2. QY 0IT el & AThR & & 3R oo st § awsh 18 €1

3. Uels T H a9 ditg Sarareil 1 aufid &8 Al 81

IWRiEd § € & 91/4 |t /87

only 1
had 1

All 1, 2, and 3 are correct
gft1, 2R3 T €

1 and 2 Onlyf
[chdc] 1 3T 2

2 and 3 Only

had 2 Al 3

Q.No:93  Censider the following statements:
1. & solar eclipse- The Moon caste a shadow on Earth when it comes between the Sun and Earth.
2. & lunar eclipse- During the new moon phase, the Moon passes through the Earth's shadow.
wWhich of the statements given above is/are correct?

FefeifEd Al = foaR %

1. g Tgur- 95AT gy ofiT gedt & " o 0T et iR o1 S B
2. =I% UgUT- ATEE o SR, e g i ST 4 giehd eRdT 6l

sy mmeE fd e arad@t g/ &2

Both 1 and A

[ 3R 2 Zi1]

1 only

had 1

2 only

2 thaw

Neither 1 nor 2

qdr1, 982

Q.No: 94 How did the Medical Termination of Pregnancy (Amendment) Act, 2021 extend the legal abortion framework in India?

efurd (arer) afdfead, 2021 & i WRd § duiie 7HuE & e ot g ueR Saria ey man?

ncreased gestational limit for termination to 24 weeks for special case

b 24 9 g 96
Restricted abortion access only to married women

et Rafea wfenalt 3 Rig mfur £ i smafy

Allowed termination solely on the discretion of healthcare providers

hael FAfehaehia Teilg U THUTd i AT &7

Made abortion legal for all pregnancies up to 30 weeks

Toft mfaenat & forg 30 g 9 U S 99 T3

Q.No: 95 What makes Dr. Avesh Kumar Tyagi's contributions in Atomic Energy distinct from conventional research output, as per his Vigyan shri
citation?

21, amdy TR [t & fFEe off nafE v & IR, TR Sw J 39 IEH & URRNE SFH O ST 1 S96E1 87

Strategic innovation in both materials and process R&D

AT ST UishaT FEYH Ud [ gl H ol Aarar

Discovery of a new radioactive element

e A Ifatedf o Fr @l
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Advances in isotopic separation only

hadl TARITHS JUahr § Wt

Development of radiation therapy devices

faferzur Rifehean Suson =1 fFag

Q.No: 96 Which of the following best describes the main purpose of developing Genetically Modified Organisms (GMOs) in agriculture?

FefafEa d 4 &9 o & e F argafles ®u & duifda shiat (Sigaah) @ FefEa s & T2 9839 1 9ad =91 JUH Sedl g7
To reduce the cost of manual weeding and irrigation only
had A=gere Fwrs offix frg & arrd &t &1 & & forg
To improve crop yield, pest resistance, and nutritional quality

A &l TEER, dhie Uizt ofiR uior o= § guR & g

To eliminate the need for fertilizers and pesticides entirely

JeiTep! AR RICAIRT i HAGGRdT I G a¥g I THIE el

To grow crops only in artificial laboratory environments
hadl AT TEHIRITAT STd1Ex0l 8 hidw ST

QNo:97  In which country, the first Commonwealth Games held?
WU iAoy 1 e S | rdifeid gy 9?

France

g

Africa

LRI

India
RIEG)
SEGEGE
EEIE
Q.No: 98 The new criminal laws aim to replace British-era laws with a focus on:
Y IMURITY AT o1 I3y fafesr 7o & Al ot afaweniia & g, S em FreafofEa w g g

Political advantages

oA Tdeh a1y

Religious governance

efffen e

Corporate laws
FHITRE HILT
ustice delivery and citizen right

T T=0] 3R AFE R

Q.No: 99 | The 3-point line in basketball is drawn at what distance from the basket in international competitions?
Siaeieta afaaifianedf # archesia § 3-UlEe T artene 4 fora @t = ©i=h ot &2
6.25 meters

6.25 ez
7.25 meters

7.25 e

5.75 meters

5.75 #Hiex
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Q.No: 100  Read the given below statements carefully and choose the correct option:
Assertion (A): The Chambal River is known for its badland topography called the Chambal ravines.
Reason (R): The Chambal flows through a deep gorge and eroded terrain before joining the Yamuna.

i feg o wmyET & wEgde ud ofik O Reea I+
HYA (A): Tel AT JUHT dol Y RIeTRid & fog St @l & o e digg et @i 21
&RYT (R): 9o T A e & Uget Goh Ted! 91el SR SRfea e & g a5t 81

Both A and R are true, but R is not the correct explanation of A.

A 3R R &1 G §, ©ifhd R, A o1 9g1 TETRUT 781 51

oth A and R are true, and R is the correct explanation of &

R A g, d49T R, A Sl
Ais true, but R is false.

AT g, vifehd R 3T Bl

A s false, but R is true.

ATT g, AT R TRl

PART - C (English L.anguage and Comprehension)

QNo: 101  Choose the correct sequence to form a meaningful sentence:
(A) the winner (B) declared () was (D) yesterday

CABD

BCAD

CBAD

Q.No: 102 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Progress in digital technology has (1) transformed contemporary life. From artificial intelligence te smartphones, technologies
are (2) transforming industries and societies. But with speed comes (3) . as numerous workers are left uncertain about
their future jobs. To adapt to this disruption, people need to be (4) , constantly renewing their (5) to stay competitive.

Select the most appropriate option to fill in blank number 1.
marginally
sporadically

occasionally

2 vl

Q.No: 103 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Progress in digital technology has (1) transformed contemporary life. From artificial intelligence te smartphones, technologies
are (2) ___ transforming industries and societies. But with speed comes (3) . as numerous workers are left uncertain about
their future jobs. To adapt to this disruption, people need to be (4) , constantly renewing their (5) to stay competitive.

Select the most appropriate option to fill in blank number 2.
hesitantly

rarely
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accidentally

fnvarianly

Q.No: 104 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Progress in digital technology has (1) transformed contemporary life. From artificial intelligence to smartphones, technologies
are (2) ____ transforming industries and societies. But with speed comes (3) . as numerous workers are left uncertain about
their future jobs. To adapt to this disruption, people need to be (4) , constantly renewing their (5) to stay competitive.

Select the most appropriate option to fill in blank number 3.

celebration
incentive

harmeny

Q.No: 105 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Progress in digital technology has (1) transformed contemporary life. From artificial intelligence te smartphones, technologies
are (2) ____ transforming industries and societies. But with speed comes (3) . as numerous workers are left uncertain about
their future jobs. To adapt to this disruption, people need to be (4) ____, constantly renewing their (5) to stay competitive.

Select the most appropriate option to fill in blank number 4.

stubborn
reactive

adaptable

Q.No: 106 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate aption to fill in
each blank:
Progress in digital technology has (1) transformed contemporary life. From artificial intelligence te smartphones, technologies
are (2) ____ transforming industries and societies. But with speed comes (3) , @5 numerous workers are left uncertain about
their future jobs. To adapt to this disruption, people need to be (4) | constantly renewing their (5) to stay competitive.

Select the most appropriate option to fill in blank number 5.

diversions
obstacles

competencies
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Q.No: 107 Read the passage and answer the questions:

As artificial intelligence (A1) technologies continue to proliferate across every sector of human activity, the ethical implications of their
deployment have become a matter of urgent concern. Once relegated to the realm of speculative fiction, Al now permeates decision-
making in fields as diverse as healthcare, finance, education, and criminal justice. While proponents argue that Al can increase
efficiency, reduce human bias, and democratize access to services, critics warn of the potential for algorithmic discrimination, erosion
of privacy, and the deepening of existing social inequalities.

At the heart of the debate lies a fundamental tension between technological progress and moral responsibility. Machines, no matter
how sophisticated, lack consciousness and intrinsic values, they merely execute instructions based on data inputs and programmed
algorithms. Thus, when an Al system makes a life-altering decision—such as denying a loan application or predicting a defendant’s
likelihood of recffending—it is not the machine itself that is accountable, but the human architects behind its creation and training.

Moreaver, the opacity of many Al systems, often referred to as the "black box" problem, poses a significant ethical challenge. When
even developers cannot fully explain how a machine arrived at a given outcome, the prospect of ensuring fairness, transparency, and
accountability becomes deeply problematic. Addressing these concerns will require not only technical innovations, such as
explainable Al, but also rigorous interdisciplinary collaboration between engineers, ethicists, policymakers, and the public.

Which of the following correctly identifies the tense used predominantly in the first paragraph?

Past perfect
Present continuous

Present perfect continucus

Present simple

Q.No: 108 Read the passage and answer the questions:

As artificial intelligence (Al) technologies continue to proliferate across every sector of human activity, the ethical implications of their
deployment have become a matter of urgent concern. Once relegated to the realm of speculative fiction, Al now permeates decision-
making in fields as diverse as healthcare, finance, education, and criminal justice. While proponents argue that Al can increase
efficiency, reduce human bias, and democratize access to services, critics warn of the potential for algerithmic discrimination, erosion
of privacy, and the deepening of existing social inequalities.

At the heart of the debate lies a fundamental tension between technological progress and moral responsibility. Machines, no matter
how sophisticated, lack consciousness and intrinsic values; they merely execute instructions based on data inputs and programmed
algorithms. Thus, when an Al system makes a life-altering decision—such as denying a loan application or predicting a defendant’s
likelihood of recffending—it is not the machine itself that is accountable, but the human architects behind its creation and training.

Moreaver, the opacity of many Al systems, often referred to as the "black box" problem, poses a significant ethical challenge. When
even developers cannot fully explain how a machine arrived at a given outcome, the prospect of ensuring fairness, transparency, and

accountability becomes deeply problematic. Addressing these concerns will require not only technical innovations, such as
explainable Al, but also rigorous interdisciplinary collaboration between engineers, ethicists, policymakers, and the public.

Identify the correct type of sentence used in the line:

"at the heart of the debate lies a fundamental tension between technological progress and moral responsibility.”
Compound
=]
Simple

Compound-Complex
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Q.No: 109 Read the passage and answer the questions:

As artificial intelligence (A1) technologies continue to proliferate across every sector of human activity, the ethical implications of their
deployment have become a matter of urgent concern. Once relegated to the realm of speculative fiction, Al now permeates decision-
making in fields as diverse as healthcare, finance, education, and criminal justice. While proponents argue that Al can increase
efficiency, reduce human bias, and democratize access to services, critics warn of the potential for algorithmic discrimination, erosion
of privacy, and the deepening of existing social inequalities.

At the heart of the debate lies a fundamental tension between technological progress and moral responsibility. Machines, no matter
how sophisticated, lack consciousness and intrinsic values, they merely execute instructions based on data inputs and programmed
algorithms. Thus, when an Al system makes a life-altering decision—such as denying a loan application or predicting a defendant’s
likelihood of recffending—it is not the machine itself that is accountable, but the human architects behind its creation and training.

Moreaver, the opacity of many Al systems, often referred to as the "black box" problem, poses a significant ethical challenge. When
even developers cannot fully explain how a machine arrived at a given outcome, the prospect of ensuring fairness, transparency, and
accountability becomes deeply problematic. Addressing these concerns will require not only technical innovations, such as
explainable Al, but also rigorous interdisciplinary collaboration between engineers, ethicists, policymakers, and the public.

What does the word "proliferate” most nearly mean as used in the passage?
Decline slowly
Spread rapidly
Change unpredictably

Improve steadily

Q.No: 110 Read the passage and answer the questions:

As artificial intelligence (Al) technologies continue to proliferate across every sector of human activity, the ethical implications of their
deployment have become a matter of urgent concern. Once relegated to the realm of speculative fiction, Al now permeates decision-
making in fields as diverse as healthcare, finance, education, and criminal justice. While proponents argue that Al can increase
efficiency, reduce human bias, and democratize access to services, critics warn of the potential for algorithmic discrimination, erosion
of privacy, and the deepening of existing social inequalities.

At the heart of the debate lies a fundamental tension between technological progress and moral responsibility. Machines, no matter
how sophisticated, lack consciousness and intrinsic values; they merely execute instructions based on data inputs and programmed
algorithms. Thus, when an Al system makes a life-altering decision—such as denying a loan application or predicting a defendant’s
likelihood of reoffending—it is not the machine itself that is accountable, but the human architects behind its creation and training.

Moreaver, the opacity of many Al systems, often referred to as the "black box" problem, poses a significant ethical challenge. When
even developers cannot fully explain how a machine arrived at a given outcome, the prospect of ensuring fairness, transparency, and
accountability becomes deeply problematic. Addressing these concerns will require not only technical innovations, such as
explainable Al, but also rigorous interdisciplinary collaboration between engineers, ethicists, policymakers, and the public.

in the context of the passage, the phrase "algorithmic discrimination” maost likely refers to:

Computers correcting human mistakes.

| systems treating individuals unfairly based on biased programmin
Al systems achieving perfect objectivity.

The classification of data without errors.
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Q.No: 111 Read the passage and answer the gquestions:

As artificial intelligence (A1) technologies continue to proliferate across every sector of human activity, the ethical implications of their
deployment have become a matter of urgent concern. Once relegated to the realm of speculative fiction, Al now permeates decision-
making in fields as diverse as healthcare, finance, education, and criminal justice. While proponents argue that Al can increase
efficiency, reduce human bias, and democratize access to services, critics warn of the potential for algorithmic discrimination, erosion
of privacy, and the deepening of existing social inequalities.

At the heart of the debate lies a fundamental tension between technological progress and moral responsibility. Machines, no matter
how sophisticated, lack consciousness and intrinsic values, they merely execute instructions based on data inputs and programmed
algorithms. Thus, when an Al system makes a life-altering decision—such as denying a loan application or predicting a defendant’s
likelihood of reoffending—it is not the machine itself that is accountable, but the human architects behind its creation and training.

Moreover, the opacity of many Al systems, often referred to as the "black box" problem, poses a significant ethical challenge. wWhen
even developers cannot fully explain how a machine arrived at a given outcome, the prospect of ensuring fairness, transparency, and

accountability becomes deeply problematic. Addressing these concerns will require not only technical innovations, such as
explainable Al, but also rigorous interdisciplinary collaboration between engineers, ethicists, pelicymakers, and the public.

According to the passage, what is one major obstacle to ensuring fairness and accountability in Al systems?
The high cost of building Al models.

The limited availability of data scientists.

he inability to fully explain how Al systems reach conclusions

The lack of government funding.

Q.No: 112  In the follewing passage, some werds have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As artificial intelligence becomes more integrated into daily life, debates around its ethical use are growing louder. Machines now
make decisions that were once the (1) of human judgment—from recommending medical treatments to scanning resumes.
While Al offers speed and efficiency, it lacks moral (2) raising concerns about bias, accountability, and transparency. Critics
argue that without strict ethical frameworks, Al could reinforce social inequalities or even make harmful choices with no clear line of
(3) Developers face the challenge of embedding values into code—yet whose values should apply? In multicultural societies,
defining what is “right” is rarely (4) Some suggest collaborative oversight involving ethicists, technologists, and
pelicymakers. Others warn that regulation must evolve faster than innovation to prevent misuse. In the race to build smarter systems,
the real question remains: can we create machines that are not just intelligent, but also (5) ?

—
—
—_

version
burden

process

Q.No: 113 | In the follewing passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As artificial intelligence becemes more integrated into daily life, debates around its ethical use are growing louder. Machines now
make decisions that were once the (1) of human judgment—from recommending medical treatments to scanning resumes.
While Al offers speed and efficiency, it lacks moral (2) raising concerns about bias, accountability, and transparency. Critics
argue that without strict ethical frameworks, Al could reinforce social inequalities or even make harmful choices with no clear line of
(3) Developers face the challenge of embedding values into code—yet whose values should apply? In multicultural societies,
defining what is “right” is rarely (4) Some suggest collaborative oversight involving ethicists, technologists, and
policymakers. Others warn that regulation must evolve faster than innovation to prevent misuse. In the race to build smarter systems,
the real question remains: can we create machines that are not just intelligent, but also (5) ?

(2)

clarity

instinct
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reasoning

Q.No: 114 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As artificial intelligence becomes more integrated into daily life, debates around its ethical use are growing louder. Machines now
make decisions that were once the (1) of human judgment—from recommending medical treatments to scanning resumes.
While Al offers speed and efficiency, it lacks moral (2) raising concerns about bias, accountability, and transparency. Critics
argue that without strict ethical frameworks, Al could reinforce social inequalities or even make harmful choices with no clear line of
(3) Developers face the challenge of embedding values into code—yet whose values should apply? In multicultural societies,
defining what is “right” is rarely (4) Some suggest collaborative oversight involving ethicists, technologists, and
policymakers. Others warn that regulation must evolve faster than innovation to prevent misuse. In the race to build smarter systems,
the real question remains: can we create machines that are not just intelligent, but also (5) ?

(3)
argument

command

accountability

Q.No: 115 | In the follewing passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As artificial intelligence becemes more integrated into daily life, debates around its ethical use are growing louder. Machines now
make decisions that were once the (1) of human judgment—from recommending medical treatments to scanning resumes.
While Al offers speed and efficiency, it lacks moral (2) raising concerns about bias, accountability, and transparency. Critics
argue that without strict ethical frameworks, Al could reinforce social inequalities or even make harmful choices with no clear line of
(3) Developers face the challenge of embedding values into code—yet whose values should apply? In multicultural societies,
defining what is “right” is rarely (4) Some suggest collaborative oversight involving ethicists, technologists, and
policymakers. Others warn that regulation must evolve faster than innovation to prevent misuse. In the race to build smarter systems,
the real question remains: can we create machines that are not just intelligent, but also (5) ?

(4)
visible
consistent

obvious

Q.No: 116 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
As artificial intelligence becomes more integrated into daily life, debates around its ethical use are growing louder. Machines now
make decisions that were once the (1) of human judgment—from recommending medical treatments to scanning resumes.
While Al offers speed and efficiency, it lacks moral (2) raising concerns about bias, accountability, and transparency. Critics
argue that without strict ethical frameworks, Al could reinforce social inequalities or even make harmful choices with no clear line of
(3) Developers face the challenge of embedding values into code—yet whose values should apply? In multicultural societies,
defining what is “right” is rarely (4) Some suggest collaborative oversight involving ethicists, technologists, and
policymakers. Others warn that regulation must evolve faster than innovation to prevent misuse. In the race to build smarter systems,
the real question remains: can we create machines that are not just intelligent, but also (5) ?

(5)
controlled

obedient

productive
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Q.No: 117 Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "0 that | were a bird!"

She said that she has been a bird.

She said that she wanted to be a bird.

She said that she was a bird.

Q.No: 118 Find the incorrect part of the sentence:
She is angry upon me.

me

No error

She is

Q.No: 119 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Economic inflation affects both consumers and businesses. P: Businesses struggle to maintain profit margins. Q: Rising prices reduce
the purchasing power of individuals. R: Governments may intervene through monetary policy. S: It creates uncertainty in long-term
investment planning. 6. Managing inflation is crucial for economic stability.

QFRS
PQRS
QRSP

ol

QNo: 120  Choose the correct meaning of idiom: 'Face the music'

Poor Weather

Bear consequencey

Earn Money

Give money

Q.No: 121 | Choose the one which can be substituted for the given sentence.
A person’s peculiar habit or mannerism

Illusion
Hypocrisy

Eccentricity


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 122 Which of the given options is the most logical sequence of the following sentences to form a meaningful paragraph?

1. Cybersecurity is a growing concern in the digital age.
2. strong passwords, encryption, and awareness can help prevent cybercrimes.
3. Hackers use advanced techniques to steal personal and financial data.
4. It means protecting computer systems from attacks by hackers.
2-3-1-4
-4-3-7

4-1-3-2
3-2-441

Q.No: 123 Select the option that expresses the given sentence in Direct to Indirect Speech.
The man said, "Be quiet and listen carefully."

The man said to be quiet and to listen carefully.

ne man ordered them to be quiet and listen carefull

The man asked to be quiet and listen.

The man advised them to be quiet.

Q.No: 124  Find the incorrect part of the sentence:
I returned back frem Mumbai last week.

last week
from Mumbai

No error

Q.No: 125  Convert the sentence provided below from its passive voice structure to an active voice structure:
The keys were found by him under the old wooden table.

He finds the keys under the old wooden table.
He was finding the keys under the old wooden table.

He is finding the keys under the old wooden table.

e found the keys under the old wooden fable

Q.No: 126  Select the most appropriate option to fill in the blank.
She has great affection ____ her brother.

0
of

with

Q.No: 127 Select the synonym of Conundrum.
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Triumph

Celebration

Harmony

Q.No: 128 Select the most appropriate option to improve the bold part of the sentence.
This is the boy who he stole the purse.

whao had stole
which stole
whom stole

hwho stold

Q.No: 129  Fill in the blank with appropriate prepositions.
Mahesh threw the ball his friend, but he could not catch it.
at
against
i

for

Q.No: 130 Select the synonym of Defer.
Decline
Delay

Reject

Q.No: 131 Select the most appropriate option to fill in the blank.
The students were keen ____ participating.

on
with

for

‘

Q.No: 132  Transform the following sentence into active voice.

This law which was passed in the parliament last year should have been reviewed properly by the members of the committee.
The parliament should have reviewed the law properly, which the members of the committee passed last year.
The members of the committee should have reviewed the law properly, which the parliament passed last year.

The law should have reviewed the members of the committee properly which the parliament passed last year.

he members of the committee should have reviewed the law properly, which was passed in the parliament [ast year
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Q.No: 133 Select the correct active form of the given sentence.
"The plants were watered by the gardener every morning."”

The gardener has watered the plants every morning.

The gardener waters the plants every morning.

he gardener watered the plants every mornin

The gardener is watering the plants every merning.

Q.No: 134 Select the correct active form of the given sentence.
"The walls are being painted by the workers."

The workers painted the walls.

The workers were painting the walls.

ne workers are painting the walls

The workers paint the walls.

Q.No: 135 Select the most appropriate option to improve the bold part of the sentence.
She is my cousin sister.

cousin sibling

own cousin

cousin girl

Q.No: 136  Select the most appropriate option to fill in the blank.
The minister was apprised the current situation.

about
i

at

Q.No: 137 Choose the correct synonym of “Juvenile’:

Ancient

Grown-up

Elder

Q.No: 138 Select the most appropriate option to fill in the blank.
The book consists ten chapters.

from
by

i
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Q.No: 139 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select ‘No
substitution required’.
She aren’t believe in wasting time during working hours.

isn't believe

Mo substitution required

wasn't believes

Q.No: 140  Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "1 need some rest."”

She said that she needs some rest.
She said that she had needed some rest.

She said that she will need some rest.

Q.No: 141 What does the idiom ‘Face the music’ mean?

Run away

Hide feelings

Avoid trouble

Q.No: 142 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6...

The digital divide continues to deepen social inequalities. P. Unequal access to the internet limits educational opportunities. Q. Those
in rural or underserved areas lag behind. R. It prevents skill development and employment access. S. Technology's benefits are
unequally distributed. 6. Bridging this gap is critical for inclusive growth.

SQPR

PQRS

QPRS

QNo: 143 Select the synonym of Alacrity.
Sluggishness

Hesitation

Delay

Q.No: 144  Choose the correct option to complete the sentence.

She read the story aloud to the class in a calm and steady .
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meaner

miner

manar

Q.No: 145  Convert the sentence provided below from its passive voice structure to an active voice structure:
The letter has been written by the manager carefully.

The manager was writing the letter carefully.
The manager will write the letter carefully.

The manager is writing the letter carefully.

he manager has written the letter carefull

Q.No: 146 Arrange the sentence parts:
() his advice (B) the students (C) accepted (D) happily

BACD

BADC

ABCD

Q.No: 147  Which of the following sentences correctly uses the idiom "A picture is worth a thousand words"?
| prefer reading detailed descriptions rather than looking at images, even though a picture is worth a thousand words.
The beautiful photegraph captured the tragedy so well that no words were needed—truly, a picture is worth a thousand words.

Since she couldn't take a picture, she decided to write a long paragraph, as a picture is worth a thousand words.

Ee described the entire scene in detail because a ilctme 15 worth a thousand words_

Q.No: 148 Which among the following sentences uses the article (if required) before the word "honour® correctly?

It is the honour to be here.

It is honour to be here.

It is a honour to be here.

Q.No: 149 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Honeybees are vital for pollination. P: They transfer pollen between flowers. Q: This helps in the growth of fruits and seeds. R: Without
bees, many crops would fail. $: But bee populations are declining globally. 6. Protecting bees is essential for food security.

PSQR
PRQS

RPQS
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Q.No: 150  In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Art is a reflection of society. P: It communicates emotions beyond words. Q: From cave paintings to modern murals, art evolves. R:
Artists express views on culture, politics, and identity. S: It also raises awareness on social issues. 6. Hence, art holds immense power
in society.

QPRS
QRPS
PRU

RSPQ

Q.No: 151  Find the incorrect part of the sentence:
She congratulated him for his success.

No error
1| for
his success!

She congratulated

QNo: 152 Which spelling is correct for a leadership role?

Luitenant
Lieutanant

Leuitenant

Q.No: 153 Select the most appropriate option to improve the bold part of the sentence.
She is married with a doctor.

in a doctor

by a doctor

from a doctor

QNo: 154  Arrange the sentence parts:
(A) by the end of the year (B) complete (C) the construction company (D) promised to

DACB
ACBD

CDAB

Q.No: 155  Select the most appropriate homonym.
The new CEO will chair the meeting.

Observe
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Cancel

Furniture

Q.No: 156 Identify the part containing a grammatical or structural error:
Mo sooner he had arrived than the meeting started.

Mo error
No sooner

than the meeting started

QNo: 157 Choose the antonym of ‘lucid’:
Transparent

Clear

Vague

Coherent

Q.No: 158 | Choose the correct indirect speech form of the following sentence.
Rukmini said to Sanjana, "Why didn't you appear in the UPSC Preliminary Examination last year?"

Rukmini asked Sanjana why had she not appeared in the UPSC Preliminary Examination the previous year.

ukmini asked Sanjana why she had not appeared in the UPSC Preliminary Examination the previous year
Rukmini teld Sanjana why she had not appeared in the UBSC Preliminary Examination the last year.

Rukmini asked Sanjana why she did not appear in the UPSC Preliminary Examination last year.

Q.No: 159 Find the incorrect part of the sentence:
The officer has issued an order to arrest him immediately.

The officer
No error

has issued

an order to arrest him immediately

Q.No: 160 | What does the idiom ‘Spill the beans’ mean?

Waste food

Hide a fact

Lose patience

Q.No: 161  Select the most appropriate option to improve the bold part of the sentence.
| came to know this from a friend.

0 know this throu
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to know that from

to know of it from

to know it by

Q.No: 162 | Choose the correct indirect speech form of the following sentence.
They said, "Please bring the basket here."

They requested to take the basket here.

hey requested me to take the basket there

They requested me to bring the basket there.

They requested me to bring the basket here.

Q.No: 163 Choose the correctly spelt word:
Recancildl
Reconsile
Reconeile

Reconcil

Q.No: 164 Fill in the blank with the appropriate tense.
The student his homework yet.

have not completed

did not complete

was not completed

as not completed

Q.No: 165  Select the correct passive form of the given sentence.
"He wrote the letter."

ne letter was written by him

The letter is written by him.
The letter wrote by him.

The letter had been wrote.

Q.No: 166 Which of the following refers to the branch of science concerned with the study of sound, its production, transmission, and effects?

Geology
Thermodynamics

Optics
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Q.No: 167  Select the correct passive form of the given sentence.
"The editor has approved the final version.”

ne final version has been approved by the edifor
The final version was approved by the editor.
The final version was being approved.

The final version is approved.

Q.No: 168 Select the synonym of Summon.
Send
Disperse

Drive

Q.No: 169  Choose the sentence that uses the homonym of the underlined word:
The wind howled through the trees.

The wind was cold and sharp at night.
The wind knocked over the garbage can.

A sudden gust of wind blew her hat away.
e had to wind the old clock manuall

Q.No: 170 | Choose the antonym of ‘benevolent”:

Humane
Generous
Kind

Malevolent

Q.No: 171 Choose the correct indirect speech form of the following sentence.

He said to Renuka, "We must do it now and go there as soon as possible.”

e told Renuka that they must do It then and go there as soon as possible

He told Renuka that they have to do it now and go there as socon as possible.

He told Renuka that they must do it now and go here as soon as possible.

He told Renuka that they had to do it then and go there as soon as possible.

Q.No: 172 Rearrange the following steps of the national census process in the correct order:
P. Enumerators visit households to collect data
Q. Data is compiled and analyzed at central offices
R. The government announces census dates and guidelines
S. A final census report is published and shared with the public

P-Q—-5-R

S-Q-P—R
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Q.No: 173 Select the most appropriate option to fill in the blank.
She was annoyed the noise.

by
™

at

Q.No: 174 ldentify the error in the sentence.

He made a quick shower before heading to the office.
quicK
shower

before

made

QNo: 175 Choose the antonym of ‘inflate”:

Increase

Q.No: 176  Select the most appropriate option to improve the bold part of the sentence.
seldom we have seen such a performance.

did we saw
have we seen

we had seen

Q.No: 177 Identify the error in the sentence.
Mount Everest is more highest peak in the world.

world

highest

everest

Q.No: 178  What does the idiom ‘Steal someone's thunder’ mean?

Mock them
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Help them

Ignore them

Q.No: 179  Choose the correct one-word substitution for:
" A speech delivered without preparation®

Rebuttal
Monologue

Impromptu

Q.No: 180 | Choose the sentence that uses a homonym of the underlined word:
He bought a ticket for the evening show.

That was the best stage show 've seen.
The magic show was amazing

We're attending the school show tomorrow.

Q.No: 181  Choose the correct one-word substitution for:
"the act of placing a dead person in a grave."

Interment
Funeral

Rebellion

Q.No: 182  Choose the correct direct speech form of the following sentence.

He said that this had been in the box.

& said, TTNis was in the Dox.

He said, "This had in the box."
He said, "That have in the box."

He said that, "It is in the box."

Q.No: 183 ldentify the part containing a grammatical or structural error:
The teacher advised to listen attentively.

to listen attentively

The teacher

advised
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Q.No: 184  Find the misspelt word.

Perspicacious

Perspicasious
loneliness

lightning

Q.No: 185  Select the correct active form.
"The article ought to have been revised by the editor.”

he editor ought to have revised the article

The editor ought to be revising the article.
The editor ought to revise the article.

The editor must have revised the article.

Q.No: 186 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select “No
substitution required’.
The students was asked to submit their assignments by Friday.

are asked to submitted their assignments

Mo substitution required

ere asked to submit their assignment

will asked to submit their assignments

Q.No: 187 Identify the error in the sentence.

She danced graceful on stage during the annual show.

stage
show

during

Q.No: 188 Choose the antonym of "Wan'.
Tiring

Healthy

Long

Wearisome

Q.No: 189  Choose the one-ward substitution for the following sentence.
Someone who has been forced to flee his or her country because of persecution, war or violence.

Shelter

Asylum
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Sanctuary

Q.No: 190  Choose the misspelt word in this list.

Aesthetics

Coercion

Bureaucracy

QNo: 191  Select the most appropriate option to improve the bold part of the sentence.
The doctor advised that he takes rest.

take rest
take the rest

should takes rest

Q.No: 192 | What is the meaning of the word "spendthrift"?

erson who spends money recklessl

A person who invests money wisely
A person who saves money

A person who borrows money

Q.No: 193 Select the most appropriate homonym.
His name has been cleared of all charges.

Shifted
Removed

Made clean

QNo: 194  Choose the antonym of ‘hostile’:

Friendly]
Aggressive

Rude

Bitter

Q.No: 195  Choose the correct direct speech form of the following sentence.

Rima said that if she had wings, she would fly in the sky.

ima said, "If | had wings, | would fl

Rima said, "If | had wings, 1 will fly in the sky."
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Rima said, "If | have wings, | would fly in the sky."

Rima said, "If | have wings, | will flew in the sky."

Q.No: 196  Select the most appropriate option te fill in the blank.
The teacher advised him to abstain ____ bad company.

with

of
for
QNo: 197  Choose the antonym of ‘dominate”

Rule

Govern

Control

Q.No: 198 Select the correct passive form of the given sentence.
"The mechanic may be checking the brakes now."

The brakes may checked now.

The brakes may be being checked now.

he brakes may be checking now

The brakes may be check now.

Q.No: 199  Select the most appropriate option to improve the bold part of the sentence.
They returned back to their home.

returned to house

returned home

went back home

Q.No: 200 | Choose the correct direct speech form of the following sentence.

Meenal told Renu that she had been a very good football player.

eenal said to Renu, | was a very good football player.
Meenal said to Renu, "I am a very good football player.”
Meenal said to Renu, "You have being a very good football player.”

Meenal said to Renu, "You had a very good football player.”
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